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Use .a wuritten .method.

V4

634+349= 9483
What is the total of five hundred and forty tw.o
and fowr hundred and eighty three? 1025

Y.

2347-259= 2088

What is the difference hetween three thousand
six hundred .and twenty nine and .one
thouwsand three hundred and seventy six? 2253

ﬁ

85412+13794=99206

What is the total .of eighteen thousand three
hundred .and forty three and five thouwsand seven
hundred .and bwm.t{ibmo? 24065

H a
Do the hest you can do.

at . | D&& 2
ol 19.01.2]

Use .a written method.

382+217= 599
What is the total of six hundred and iw.o

and two hundred .and fifty four? 856

Y

4323+2596=6919

What is the total .of five thouwsand four
hundred .and thirty .one and three thousand
five hundred and sixty two? 8993

_ 84352-7763= 76589
‘lii;; What is the difference bebween ningby fowr thouwsand
> and twenky eight and thirty six thousand and

five? 58034

25X3=75




H a at : Day 3

Do the hest you can do. houscpoint
Use .a wuritten .method.

783-439= 344
““i? What is the difference hebween eight hundred and sixhy
four and sewven hundred and six? 158

6463-3757=2706
“‘inﬁ\Mhatbsthexﬁg%uymelnbMﬂyLﬁw@HHuuuuuuiihmw

-~ hundred and twenty six and tw.o thousand .one
hundred and three? 3223
[7X4= 68

. 43192+18523= 61715

" What is the total of wenty five thousand w.o
three hundred .and forty two? 44579

33X7= 23
Hove a go at these: Day L
Do the hest you can do. | right - | 2,0,2,
Use .a written method. housepoint Ll il &l

872-346 = 526

/ What is the difference between seven hundred .and
Jifty one and five hundred and sixteen? 235
I3X4= 52

/ﬁ32|43+l657= 3800

/ / What is the total of fowur thousand five hundred and
five? 7988
35X3= 105

= 6248|+36532= 99013
Ji‘{; What is the total hetween thirty five thousand and
»  twenty seven and three thouwsand five hundred .and
thirty six? 38563




Have a at D 5
Joj AL COUL . | right -
Ty v N Y X IW)

Use .a wuritten .method.

425+238= 663

/ What is the total of sic hundred and thirty three .and
five hundred and eighty two? 1215
28X3= 84

‘qf 2536-168= 2368
// What is the difference between four thousand five
~ hundred and thirty eight and tw.o thousand fowr
hundred and sewventy five? 2063
I156X3= 468

.. 74318+21582=95900

. What is the total of seventeen thousand tw.o hundred
thirty two? 20866
272X3= 8l6




